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1.Which two statements about Cisco Validated Designs are true? (Choose two.)

A.They are prescriptive, scalable, flexible designs that are used to quickly deploy a full-service network.
B.They consist of systems and solutions that are designed, tested, and documented to facilitate and
improve customer deployments.

C.They get the design working the first time by using validated configurations and topologies.
D.Their implementations are mainly partner-led.

E.They consist of three primary modular yet interdependent components.

Answer:AB

2.What are two characteristics of Smart Business Architecture? (Choose two.)
A.lt is targeted at organizations with 200 to 1000 connected users.

B.Its design requires midlevel IT capabilities.

C.lt consists of three primary modular yet interdependent components.

D.It has the drawback of not being advanced technology-ready.

E.lts design is sophisticated as compared to Cisco Validated Designs.
Answer:BC

3.Which mobility concept refers to the location that the wireless user has roamed to while mobile?
A.Layer 3 roam

B.point of attachment

C.point of presence

D.Layer 2 roam

Answer:C

4.Which component of the Borderless Networks framework addresses the needs of customers who are
adopting private virtualized data centers, cloud-based services, and BYOD devices?

A.BYOD

B.Cisco Cloud Intelligent Network

C.Cisco Prime Infrastructure

D.Cisco Unified Access

Answer:D

5.Which application consideration is important for collaboration capabilities,including voice,video, and
instant messaging to users of mobile devices such as android,apple ios smartphones, and tablets?
A.dual SSID design

B.quality of service

C.rate limiting

D.single SSID design

Answer:A
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